T. Kurita.

T. Kurita




T. Kurita

C

X =——{1000 — Y
' 300

C 2
— @) —
*—e) %

Y

B
p — — Y
“ Z




290

T. Kurita

291

141 1

141

T. Kurita.

292

292 2 261

T. Kurita




292 2

e 262 1

® 263

T. Kurita

10

X 1000

600

400

T. Kurita

1

T. Kurita

12




293 2
293 2




293 3 1

293 3 2

T. Kurita 16

x—\:%vv

[ 297 143

o
O]

T. Kurita 17

A)
293

B

T. Kurita 18




°
°
294 295
—‘ (@) ‘ > v
° a
°

T. Kurita 21




® 294

295
°
1. 294
2.
[ ]
[ ]
8.5.28 1569 48
1.
140
2.
296
°
e 296 1

304

T. Kurita

24




296

(

X

— (@)

—®)

Ay

T. Kurita

25

296 2

298

298 1

T. Kurita

26

298 2

299 301

T. Kurita

157

298 2

27




301

[ ]
[ ]
T. Kurita 28
297 143
300 301
[ ]
297 143
1. 143
2. 146 300 1 2
3. 144 300 3
[ ]
301
T. Kurita 29
[ ]
300 1

T. Kurita

300 2

30




1000
« —100 — v
— —
Y
« 2
x = -y
— —
y
C )
X1 Xo
X2 Xs
)1(1 —_—X1 Xs —_— Y
—_— Xs Xo —
| _
144

T. Kurita 33




300 3
[}
[}
T. Kurita 34
[ ]
1.
2.
[ J
T. Kurita 35
304
[
2
1.
2.
T. Kurita 36




® X

37

T. Kurita

38

. Kurit

(

= |

39

T. Kuri




e 304

[}
[}
° 304 296
T. Kurita 40
]
| |
| ! |
v
| ||
T. Kurit a
[
[ ]
T. Kurita 22




T. Kurita 43

302

T. Kurita 44

T. Kurita 45




304 309
[ J
1.
2.
[ ]
1. 306
2. 308 2
306
)
°
312 2
°
°
156

T. Kurita

a8




307 308 1
309
T. Kurita 49
307
T. Kurita 50

307

T. Kurita 51




308

307

306
308 2

T. Kurita

52

308 2

T. Kurita

53

295

T. Kurita

54




T. Kurita

55




